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Giai cac phép tinh (+ -) Ho va Tén:
Tim gi4 tri con thiéu trong cac phép tinh. Cau tra loi
D 2+2=92
1.
2) 49=9+1
2.
3) 2.25=28
3,
9 47+92=50
4,
5 9.4=87
5.
6) 30=27-65
6.
7 74-28=79
7.
8) 2=77-52
8.
9) 2=91-31
9.
10) 78 -39="9
10.
1) 77 =9+43
1.
12) 9=29+12
12.
13) 35=2+7
13.
14) 24+ 10=156
14,
I5) 2=77+20
15.
16) 21=37-7
16.
17) 43 =68 -7
17.
18) 94_-7=69
18.
19) 9=9_54
19.
200 57+92=284
20.
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Giai cac phép tinh (+ -)

Ho va Tén: Loi gifli

Tim gi4 tri con thiéu trong cac phép tinh.

Cau tra loi

) 2+2=92 ) 90
2) 49=7+1 ) 48
3) 2-25=28 S 53
4 47+2=50 \ 3
5 ?-4=87 ) 91
6) 30=7-65 . 95
7 74-28=7 : 46
8 2=77-52 . 95
9 2=91-31 N 60
10) 78 -39="2 10. 39
) 77=2+43 . 34
12) 9=29+12 12. 4
13) 35=2+2? s 33
14) 2+410=156 14. 46
15) 9=77+20 15. 97
16) 21=37-2? ” 16
17) 43 =68 -? 5 25
18) 94-2=69 ” 25
19) 9=27-54 o 63
20) 57+7=84 . 27
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c{}51—1 Giai cac phép tinh (+ -) Ho va Tén

Tim gi4 tri con thiéu trong cac phép tinh.

Cau tra loi

91 53 3 95 46
46 90 97 41 39 1.
34 48 60 33 25
2.
D 24+42=92
3
2) 49=2+1
4.
3) 2-25=28 s
4 47+2=50 6.
5) 9-4=287 k
8.
6) 30=7?-65
9,
7 74-28=7
10.
8) 2=77-52 1.
9 2=91-31 12.
13.
10) 78 -39=7
14.
1) 77=2+43
15.
12) 9=29+12
13) 35=2+7
14) 2+10=56
15) 9=77+20
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